PIANALI
1EVAEPAS £ OOR PLATES

Mini Exp

Mini KID

" Mini NEOS

E
Rookie - Nordix

68 In vigore dal - Effective from 15-12-2021 g




Rif. FLOOR PLATES ¥

Description Tax included
A |0072.D1B Pianale AL Micro Micro AL floor plate 0
B [0072.B0A Pianale AL Mini Exp Mini Exp AL floor plate 0
C |0072.BOE 707-7°b—F+ NEOS Mini NEOS AL floor plate 27,720
D (0072.B0B Pianale AL Mini Kid Mini Kid AL floor plate 0
E [0072.BOF 707-7"b—+ ROOKIE EV Rookie EV floor plate 27,720
F  ]0072.00B 7A7-7°b—F RACER 1.5mm AL floor plate 29,590
F1 |0072.00C oK 7A7-7"L—+ OK floor plate 29,590
F1 |0072.00CA Kz 787-7"L—} KZ floor plate 29,590
F1 |0072.00C1 Kripton 707-7°L—} Krypton floor plate 29,590
G |V.TPSCEI6X20 #56 W+ 6X20 TPSCEI screw 6x20 mm 44
H (0031.00 IN'=799%—6X20 Rubber @ 6x20 mm Red 88
H 0031.00N Gommino @ 6 x 20 mm Nero Rubber @ 6x20 mm Black 88
| 0033.00 0¥"yhIyYe— M6/ALU Biconical AL washer @ 6 mm 264
J R.P.6X18 7yY4— D.6x18 Washer @ 6x18x1 mm 1
K |D.M6A.B. tN7nvHFyiMe (F40Y) A.B. nut M6 22
M |C.D.M6R Fybin'-Me M6 nut's cover Red 77
M |C.D.M6N Copri dado M6 Nero M6 nut's cover Black 0
N [0225.06 TAT-N'RLIN =735 Plug 231




